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	一、選擇題： (1~5 頁 每題 3% 共84 % ) (考題共6頁)
 1. Membrane-bound organelles that contain powerful enzymes found in cells are known as

A. lysosomes.         D. liposomes.                                                 B. plastids.           
E. ribosomes.                                           C. vacuoles.

 2. A cell biologist treats a cell so that oxygen cannot diffuse across the membrane. Which organelle will be directly affected?

A. mitochondria       
D. ribosome

B. lysosome          
E. Golgi apparatus
C. nucleus

3. Which of the following protein classes are not found as membrane proteins?

A. transport channels   
D. enzymes

B. hormones          
E. identity markers
C. receptors  

4. In a single sodium-potassium pump cycle, ATP is used up with the result that

A. 3 sodium ions leave and 2 potassium ions enter.

B. 1 sodium ion enters and 1 potassium ion leaves.

C. 1 sodium ion leaves and 1 potassium ion enters.

D. 3 sodium ions enter and 2 potassium ions leave.

E. sodium and potassium ions enter and water leaves.
5. The chief energy currency of all cells is a molecule called

A. cyclic AMP.            D. ATP.

B. NADH.               
E. ADP.
C. FADH.

6. The temperature is raised slightly above the optimum for a specific enzyme. What would you expect to observe as a result of the change in temperature?

A. increased enzyme activity     D. enzyme denaturation
B. decreased enzyme activity    
E. Enzyme no function

C. no change in enzyme activity
7. A process common to all living organisms, aerobic and anaerobic, is

A. glycolysis.                D. electron transport chain reactions.
B. fermentation.              E. pyruvate oxidation.
C. the Krebs cycle.   

8. The end-product of glycolysis is

A. ATP.                 
D. ADP.

B. NAD+.              

E. pyruvate.
C. alcohol.   

9. A single glucose molecule can drive the Krebs cycle

A. one turn.               
D. four turns.

B. two turns.              
E. six turns.
C. three turns.   

10. In muscle cells, fermentation produces not alcohol but

A. ATP.                   
D. kinetic energy.

B. NADH.                 
E. lactic acid.
C. pyruvate.  

11. The dark reactions of photosynthesis are those that

A. convert chlorophylls into enzymes.

B. convert enzymes into chlorophylls.

C. convert water into hydrogen and oxygen.

D. convert CO2 into reduced molecules (sugars).

E. only occur in the dark.
12. In the human, the body cells (non-sex cells) contain how many chromosomes 
A. 2.               
D. 46.

B. 22.              
E. 23.
C. 44. 

13. The central and peripheral nervous systems in the vertebrates is comprised of

A. axons.                
D. neurons.

B. cell bodies.            
E. synapses.
C. dendrites.

14. The epithelial wall of the small intestine is covered with tiny, finger-like projections called

A. cilia.                   
D. micovilli.

B. flagella.                 
E. plexuses.
C. villi.  

15. Structures that have similar structure and function but different evolutionary origins are called

A. homologous.              
D. uniform.

B. analogous.                
E. evolutionary modifications
C. inherited.  

16. Eyes in mammals and _____________ are examples of convergent evolution.

A. eyespots in butterflies       
D. eyes in fish
B. compound eyes in fruit flies  
E. eyes in snakes

C. eyes in great apes
17. A DNA analysis shows that an organism has 21% cytosine. The amount of Guanine this organism would have is 

A. 21%                     D. 23%

B. 29%                     E. 79%

C. 50%   

18. Features that increase the likelihood of survival and reproduction by an organism in a particular environment are called

A. genes.                   
D. adaptations.

B. fitness.                   
E. selection.
C. mutations.  

19. A small amount of DNA can be made into large amount by 

A. electrophoresis                 D. ligation

B. DNA hybridization              E. elongation

C. polymerase chain reaction (PCR)  

20. The most important ion in controlling the movement of water into and out of the guard cells is

A. sodium.          

D. nitrogen.

B. hydrogen.         

E. potassium.
C. carbon. 

21. The diffusion of water across a plasma membrane is referred to as

A. osmosis.               

D. countercurrent flow.

B. active transport.          

E. bulk flow.
C. facilitated diffusion.

22. The cardiovascular system consists of the following except

A. the heart.                

D. erythrocytes.

B. blood vessels.             

E. the lungs.
C. blood.
23. Most viruses form a capsid around their nucleic acid core. This capsid is composed of a(n)

A. protein.                 

D. glycoprotein.

B. monosaccharide.          

E. lipoprotein.
C. antigen.  

24. Phages are viruses that can infect

A. humans.                

D. farm animals.

B. plants.                  

E. bacteria
C. insects.  

25. Which of the following is the smallist vessel:

A. artery                   

D. arteriole

B. vein                    

E. venule
C. capillary

26. Ovulation occurs by the sudden secretion of

A. estrogen hormone.          
D. progesterone hormone.

B. luteinizing hormone.        

E. hCG hormone.
C. follicle stimulation hormone. 

27. The physical map of the array of chromosomes is called a(n)

A. ecotype.                

D. phenotype.

B. haplotype.               

E. genotype.
C. karyotype.   

28. Most nutrients are arsorbed in the

A. small intestine           

D. stomach

B. oral cavity               

E. pancreas

C. colon  

二、 配合題:  ( 共 16% )

1. Choose the letter of the best match from the following:  ( 5% ) 

A. B cells            D. T cells

B. macrophages       E. monocytes

C. plasma cells

(1) Phagocytes that circulate in the blood.

________________________________________

(2) Helper and inducer cells.

________________________________________

(3) Source of antibody-producing cells.

________________________________________

(4) Macrophage precursor cells.

______________________________________ 

(5) Produce specific antibodies.

2. Please rank the following levels of organization in order from smallest to largest ( 5% )
A. Organelle        
D. Tissue

B. Molecule         
E. Ecosystem

C. Population

3. According to Chargaff rule and Watson-Crick’s DNA model, if you know a DNA sequance is AATTCG, the complementary sequence should be? ( 6% )
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